BTE A/ ARy R— LB — 5%y
FIAERTHR
POINT TOPI1O

1 gl —L (B AEGE KFE[25] 3 | 344
2 Al WKk MW Ok F| 11| 2 | 284
3 BHE  Albnk Mmoo Kk 726 3 [240
4 A b [ KW OS2 K F[16] 4 [ 205
5 R NG P NEE N 4 1192
6 Al HEX [K B Ko K267 3 [179
7 B Ak | KW m v k714 2 |[176
8 | A A A KK pE ¥ KO 1 | 174
9 = H  AA BFEM 2R KFE[68] 4 | 169
10 N GG ENED IR 3 | 166
SPOINT TOP1O
JIEAE 4 1 K54 No. | 4 | A
1 i —BL B e A E R R 25 3 47
2 Al AR W ook F[11] 2 38
3 T ORI (KB ¥ R 24 2 32
1 B Bk KW K F[14] 2 30
5 W) R S =2 3 27
6 R RIL K B a2 K #1164 26
7 VERT —sl [ BF K | 3 4 25
7 AN R fOF R BE K F 2 1 25
9 Raik - # =k ¥ s K24 3 24
9 A 4 2Ok F| 44| 4 24




